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Note : Answer questions from each Section as

directed.

Section—A

Note : Attempt any two questions from this

Section.

1. Discuss the wage fund theory and marginal

productivity theory of wage determination. 20

2. What is the significance of Micro, Small and
Medium Enterprises (MSME) in India ?
Identify the key constraints facing MSME. 20

Lot-I P.T.O.
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What are the causes and impact of industrial
sickness in Indian economy ? 20
Discuss National Rural Employment Guarantee
Act, 2005 in detail. 20

Section—B

Note : Attempt any four questions from this

10.

Section.

Explain the problems faced by sugar industry

in India. 12
What is meant by “Economies of Scope” ? 12

Explain Sargent’s theory of industrial location.

12

Explain the role of Special Economic Zones

(SEZ) in India’s economic development. 12

Explain the linkages between industry and

tertiary sector in India. 12

Discuss the policy of disinvestment in

India. 12
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Section-C

11. Write short notes on any #wo of the

following : 6 each
(a) Index of Industrial Production

(b) Market failure

(¢) Sustainable Development

(d) Industrial Pollution

P.T.O.
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